H & 0l & AHS B Ml A

SA AL
3 HYHEFEHESHLHE
Rl FHEEHEXE (SH9 H2)
SN - BE - SRA(SIH) - NIRAY - B2 0] a0t ol & o HimEE]
ral=p/ =/} 4,002,255 4,174,555 A172,300
= 1,960,700 1,992,700 32,000
& 271,233 271,873 2640
= 1,770,322 1,909,982 139,660
WEEFHSETH 838,500 878,800 240,300
= 50,000 50,000 0
[ 29,520 27,360 2,160
= 758,980 801,440 A42,460
FHERONERIR 838,500 878,800 240,300
= 50,000 50,000 0
< 29,520 27,360 2,160
= 758,980 801,440 A42,460
BIEEAAY 37,000 50,000 13,000
401 Al&BIL S THYI 37,000 50,000 13,000
01 Al£ZHI 37,000 50,000 13,000
OBIEENAIY &% 37,000,000 37,000 50,000 13,000
PIAE A=A LAY 623,000 640,000 A17,000
401 AlEBIYL LY 623,000 640,000 A17,000
01 AlZHI 623,000 640,000 217,000
oY H AXF=XE Z8AY
23 623,000,000 623,000 640,000 A 17,000
BIE QM EXIALY 5,000 15,000 10,000
201 fer=3| 5,000 15,000 10,000
2 S22l 5,000 15,000 10,000
OBIE AHEEXIAY Z& 5,000,000 5,000 15,000 10,000
B EHIAY 23,400 16,200 7,200
[ 7,020 4,860 2,160
= 16,380 11,340 5,040
402 QIZEXH20IH 23,400 16,200 7,200
< 7,020 4,860 2,160
= 16,380 11,340 5,040
02 QIEN2AILEZ(0IETHR) 23,400 16,200 7,200
OEIEEHIAIL 23,400 16,200 7,200
OZd0IEXS Z& 13,800,000 13,800 12,600 1,200
< 4,140 3,780 360
s 9,660 8.820 840
ogerxs 23 9,600,000& 9,600 3,600 6,000
< 2,880 1,080 1,800
= 6,720 2,520 4,200
BIEEHI X3S 35,100 42,600 27,500
402 QIZERHZ01H 35,100 42,600 27,500
01 RIEN AL E X (XM THR) 35,100 42,600 A7,500
OB A EHIXI A (BIZEHIAFE ) 35,100 42,600 27,500




A AN
Ha: WHEFHEBEH

Rl FHEEHEXE

SA - B SA(B) - MRAY - BES (TPNET /iE-
||| Osdoexns 23 32, 100,0008 32,100 39,600
Fe 28 U 2 341,993 379,998

= 1,498 1,498

2 340,4% 378,495

2aFeAs 212,000 250,000

nisEHEEEFY 212,000 250,000

401 AIEHIZ 2 OHH] 190,000 200,000

01 Al&H 190,000 200,000
ODISEHIE 2BFUA

A 190,000,000 190,000 200,000

408 TXISHHI S K201 & 22,000 50,000

(2 ZI|2S 0T B X H IS AIH| 22,000 50,000
OUISTHIE STFUAIY

A 22,000,008 22,000 50,000

REESHHES 2,614,130 2,708,130

2 1,877,400 1,909,400

= 236,225 239,025

2 500,505 550,705

NS0 N 2,346,250 2,386,250

2 1,877,000 1,909,000

= 234,625 238,625

2 234,625 238,625

S ET 2,346,250 2,386,250

2 1,877,000 1,908,000

= 234,625 238,625

2 284,625 28,625

301 Yere A3 1,945,219 1,985,219

2 1,586, 175 1,588,175

= 194,522 198,522

2 194,522 198,522

I E R E R EESTEN 1,945,219 1,985,219

OYXB0I(HB-EE3 - YXR)

A 1,945,219,0002 1,945,219 1,985,219

2 1,586, 175 1,588,175

= 194,522 198,522

2 194,522 198,522

AR K 267,880 31,880

2 400 400

= 1,600 400

2 265,880 31,080

dEee FHX2 HEIX X 111,080 111,080

301 Yere w3 110,000 110,000

2 ABI SRR AFB(HAAS, L) 110,000 0




SN AENLD
HE: MRIFENOHE

SRl FHEAA X (SH9 H2)
A -3 - SRA(3H) - HRAE - BES Ofl &4 I3 A Husz
OHERE FHNS WE0IX X 110,000 0 110,000
03 AR 2E A 5SS (XILMHE) 0 110,000 110,000
OdleRe FHA= W= X
34 03 0 110,000 110,000
NASHE SUHES= 152,000 210,000 58,000
501 EXt= 162,000 210,000 58,000
01 22 162,000 210,000 58,000
OMASAHS =\
2 & 152,000,000& 162,000 210,000 58,000
HNIALDI TSHA MelthE OIXHKI& 4,000 0 4,000
< 1,200 0 1,200
= 2,800 0 2,800
301 LetEAS 4,000 0 4,000
< 1,200 0 1,200
= 2,800 0 2,800
02 ANBI2HHSFS(HAAS, XNLHE) 4,000 0 4,000
OTAMALD| LaHAH MelthE Ok XI& 4,000 0 4,000
< 1,200 0 1,200
= 2,800 0 2,800
A2 ZH| 99,900 99,900 0
E3H(A=g ) 99,900 99,900 0
Glal 48,000 48,000 0
202 04t 48,000 48,000 0
01 2oL 17,440 19,440 2,000
O=LHoitl 3& 17,440,000 17,440 19,440 A2,000
02 40| 30,560 28,560 2,000
O A0y 3& 30,560,000 30,560 28,560 2,000




